
It follows that 
� � � � � � � � � � � �� �

� �
1000 1000 1000 0 Pr 10,000 Pr

1000 10,000 0.0103 1000 103 897

cE P E B E B W H W H� 	
 � 
 � 
 � � 
 �

 � 
 � 


| |

 
 
-------------------------------------------------------------------------------------------------------- 
 
114. Solution:  C 

Note that  

P(Y = 0�X = 1) = ( 1, 0) ( 1, 0) 0.05
( 1) ( 1, 0) ( 1, 1) 0.05 0.125
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= 0.286 
P(Y = 1�X=1) = 1 – P(Y = 0 � X = 1) = 1 – 0.286 = 0.714 
Therefore, E(Y�X = 1) = (0) P(Y = 0�X = 1) + (1) P(Y = 1�X = 1) = (1)(0.714) = 0.714 
E(Y2�X = 1) = (0)2 P(Y = 0�X = 1) + (1)2 P(Y = 1�X = 1) = 0.714 
Var(Y�X = 1) = E(Y2�X = 1) – [E(Y�X = 1)]2 = 0.714 – (0.714)2 = 0.20 
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115. Solution:  A 

Let f1(x) denote the marginal density function of X.  Then 
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Consequently, 
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